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x/(410490-5040)=1.675=>1.008
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bad:798=0.18% A (R) z = 1.86785

u = —0.045(22) x = 1.130(82) => 1.130(83)
med(mad)

o~ _'l_l T T T |_| T T T T I T |_£_|I||l|l|l|_A
— = . — T

o e ]

o o e

0.5

L .
B & L L d e 1 .
TR TN A S 0t e e g

1500 2000

A Q@) z

3000

1>+86.00
2<-6.00

1.86785

AVG
cont
Fe2
BLR
NLR

-1

f) (10717 erg em™2s7'87")

& and x

0.2

-0.2

10

1.3

1.2

0.9

0
-

Continuum Lightcurve

™o

Ac %

o

12608 ) 16388 ) 21308 ) 27698 36008

7000 7500 8000

MJD — 2450000

8500 9000

BLR Lightcurve

— T T T T T T T T T T T T T 1]
" " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " 1
7000 7500 8000 8500 9000
MJD — 2450000
Corrections
rm806
T T T T T 1 T T T T 1
L " " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " I-

7500 8000

MJD — 2450000

u = 0.04(39) x = 0.972(31) => 0.972(31)
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